2 Over 1 Game Force    (Part III)
This month we’re going to finish our look with how respond with minimal hands (0-9 hcp) when partner opens the auction.  I’ve previously discussed the terminology of strong fit, (9+ combined trumps), fit (8 combined trumps) and no fit (less than 8 combined trumps).  Last time, I suggested that when you had a strong fit with partner (and RHO has passed), that it was strategically sound to make a jump raise (weak) holding as few as 0-5 points.  So if partner opens 1C or 1S and we hold:


♠ 8653


♥ 754




♦ 6




♣ Q9753
I would advocate making a jump raise in partner's suit promising a very weak hand.

Without the safety net of a strong fit, it tends to be suicidal to take any action (other than pass) with hands weaker than 6 hcp – so for the rest of our discussion, minimal hands will be defined as hands with 6-9 hcp with a fit, and 6 to as high as perhaps 12 hcp without one. We must still consider whether we hold a strong fit with partner, a fit with partner, or no fit. We’ve already looked at many of the strong fit situations, so:

Fit hands:
When we fit in a major, (3 card support) 2/1 is uncomplicated. Simply raise partner to 2. This means the same thing as it does in Standard American – that is, a minimum non-forcing raise. When we fit in a minor, we will frequently play the hand in some number of No-Trump unless we have an unbalanced strong fit (5 or more). In those cases, I jump in the other minor to show the minimum (but not weak) raise. 

opens 1C and RHO passes: 
a.
♠ 83

b.
♠ 873

c.
♠ 8653

d.
♠ A65

e.
♠ Q53

♥ K54


♥ K54


♥ K4


♥ K4


♥ 74
♦  K653

♦ Q63


♦ Q64


♦ Q86


♦ Q95
♣ Q975

♣ Q975

♣ Q9752

♣ Q9753

♣ K8653
a)  Bid 1D. No reason to bypass a four card suit. If partner had opened 1D, you would have bid 1NT.
b)  Bid 1NT. You have a flat minimum and a bid to show it.  

c)  Bid 1S. Just because you have a strong club fit does not mean you should bypass a four card major (even a terrible one) to show it.  You are too strong for an immediate jump to 3C.
d)  Bid 2NT. You have an otherwise balanced hand, with a strong club fit. Making the game invitation in no trump makes more sense than suggesting a decent club raise, and you aren’t strong enough to force to game in clubs.
e)  Bid 2D. You have a minimum hand with clubs.  Show it. 
No Fit Hands:
Like a child with vegetables, I’ve saved the worst for last.  When partner opens a 1C and we have no fit, we will always have a suit to bid.  When partner opens 1D and we have no fit, we will always have a major to bid unless we have 5 or more clubs. That particular hand tends to be problematic in any system, and I suggest bidding 1NT and hoping for the best. If the opponents come in, you might be able to show your clubs later.  In any event, responding to 1 of a minor in 2/1 is virtually identical to responding in Standard American with the exception that you should have a very good 12 or more hcp to bid 2C over 1D. With less, bid 1NT or 2NT (if balanced).  Keep in mind that it’s generally better to bid conservatively when you have no fit, and aggressively when you do.
When partner opens one of a major and you have a minimum hand is when 2/1 differs most dramatically from Standard American.  In Standard, when partner opened 1H or 1S, you could bid a non-forcing 1NT. Often, you would play it there.  In 2/1 we need to expand our range of the 1NT response since we no longer have the luxury of bidding on the two level with 10, 11, and even sometimes 12 hcp.  It takes more strength to make a game when you don’t fit with partner, so naturally, you need more to insist upon it.  Therefore, when partner opens 1H or 1S, our 1NT response must be made on hands as weak as 6 (perhaps a good 5) and as strong as 11 (perhaps a bad 12). This is a huge range, and we need a method to differentiate between those possible holdings and ranges. We do this by making the response of 1NT a Forcing Bid. This is known as the Forcing NT.
Opener cannot pass. He must bid, and therefore makes the most natural rebid he can:

1) With a 6 card major he rebids it.

2) With 4 hearts (if he opened 1S), he can rebid 2H

3) With neither 6 of his first major, nor 4 of the other, he bids his longest minor.

Many players (not me!) play the Flannery Convention when they have exactly 5 hearts and 4 spades, to avoid having to possibly rebid 2C on a 2 card suit, but you can read about that elsewhere. 

So what does Responder have when he bids a Forcing NT?

Most of the time he will hold minimal hand with no fit. When Opener makes his forced rebid, Responder can choose to pass the second suit, or correct back to the major with a doubleton. This is the most frequent sequence, but by no means the expected one. 
Partner opens 1S, you respond 1NT* (forcing), and partner rebids 2C* (might have only 3):
a.     ♠ 83
       b.
    ♠ 83

c.   ♠ K63
    d.
  ♠ K6

    e.
♠ 53

f.
♠ 53
       ♥ K54

    ♥ QJ42
      ♥ QJ4

  ♥ QJ84

♥ 73


♥ 73
       ♦  J63

    ♦ K863
      ♦ K86

  ♦ K86

♦ KJT652

♦ K96
       ♣ Q9753

    ♣ J97
      ♣ K753

  ♣ K753

♣ K96


♣ KJT652
a)  Pass. You have a weak hand and at least an 8 card club fit.

b)  Bid 2S.  This shows a doubleton spade with less than invitational values.  1NT may have been a better place to play this hand, but it was not an option.  You know you have at least seven spades.  

c)  Bid 3S. This sequence promises a 3-card limit raise.  There are bids to show 4+ card limit raises, but we'll look at those later. Remember, bidding 3S directly would have been very weak (0-5). 
d)  Change c)  by switching the ♠3 to the ♥8 and you still would have responded 1NT. This hand is a bit too weak to start with a 2/1 response of 2C.  When partner rebids 2C, invite game with 2NT.
e)  Bid 2D. Just what it looks like. This sequence shows a weak hand with long diamonds.  

f)  Bid 3C.  This should be more of a blocking bid than an invitational one.  Don't let the opponents into the auction easily. Partner should pass with less than 17 or so.  Suppose partner had rebid 2H instead of 2C?  Now partner may not have any clubs.  Take a simple preference to 2S. There is no guarantee that 3 clubs will be a better spot than 2S. Perhaps if you had a singleton spade you might venture 3C, but opt for the lowest safest contract. 
